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(Do Suppose thak  dde, -, du  arethu divissn of M and  e.ea- e
ore the &):AMMMAOPYL Theu

o (m)= di+dy+--+du
T(n) = e, +e1+—t+eg.

1P Prene expromion ane mulhiplhiad togdhn emd the podudt o
expanded with the dinbibuhive mo{zﬁq, the /wsuﬂrl 3) ué: sum
of e of the Pom  di-e; . P iz 12 W and =iz,

We stafed in clowm that each diviio o man (whew g4dlmu)=1)
con be wathen wniquely ay d-e, whon dlm and eln.
Thowedow thew k- produds di-e; anre precisdy the divisus
of win, with eath diviss occuming exadly onee. Henu

glmla{n) = (di+-+A). (ed~+ eg)

=diector gt dues

= 5 (v,

b) The vty of pt ane 1,p,pYL P2 p- So
o (p®)= [4p+pt - p

Eeﬂ_l
e

é@ c (0= ¢(@)o<(s)= (+2(+s]= 13.
6(20)= e (5) = (1+2+u)(1+S)= 42
Fli128): (2238 &5 - 177.40= 5080
c(U100) = (4 1-246Y)= Y- (142Ul (145425)= 41 F-3 (= 94,
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@ a) Since Gd(Z4w)=), it fllows thed on)=clZw)
= o @95Iw) = (2450 s lw).,  Tha wunt equel
Zv, whith & 2w Thwy

(2L ) o) = 24w,

Since  qud(Z4M, 7Y =1 aud 2| (@i, it
Pollows that 2% o m). Let Q= 'slm) f2%) i+

vt he an
Cinte G-;[u“:\ = 7_::_\., how beth equed 2 and th
slm) = £- 2"

& m = L (1),

b) The viumun  a- (2"-\, a, and 1 a/ua,QAonuDan
a-(2%-). Sinte axl ond -\%27, 2k
e quedition

1< a < a- (25
hold  so P ane dovkinet ivieu. So
@(a(z"—ﬂ) ¥ 1+a+ a(2™-) = l+a-7%
= o (alt-)> a?”

| needed ax? o Pt adly | veded £37 5o that

a< a-(1°-1).
Q) Let a=R and b=k+l. Snce s(a(z-W)= a2 (b, par>

0), the amumption e put (b) cavmtr Wdd: eithe a=l o b=l
Rt b=lktin2 shiee Ll (b even. So a=l, ie. £=1.
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H)a)  atshwedp D atb =0wdp
= (a+h)(a-b) =0 wdp
= p | (avh)[a-W
& pllavh) o1 pllat)  (ynep aprimd
= axbz0mudp 0 a-b =0 mudy

(=) az-byudp 0o a=b wmudp.

b % Sunpow & contradithion thak m & v,

Since a* = Yt'widm, part (a) implies that erthua

az=bmdm o1 az-bwmdm. Since la-blim,
and azh, it @ canndt be the cane thet a=bwwdm.

o a=-b wiwdm, Then m[l@xh). Bub Zsarhewm,
so the only postihilib & a=b= twm. But thi

o conteadichion, stnee a b <
e fpu w canwt hie pine, (F o ommm)ﬁ.

c) 150" = 22500 = |bS wmod 2233l
%) [S0t=13C wod 12331 .4

Thes o503t ghvrere—o 237 \u falf,

Budr 1613¢\S0 € 4-72233, R, paat (B 14
‘eo\lb\h) hak 22331 EAL CUW\POSIZL,P

Note: ln Pack,  22331= 150=13¢ =
- 163137,
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